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Tanik  REF # e th 3 B A
5 |2@ AED 7.93 6 [BRNEEQ 7.68 7 |ME BEQ 7.37 8 | KIEHTHER 7.31
| | & ©& ABXEE I\ & N &
EREEIEL20) 6.85 10 [FIZHPRQ 6.36 1R FFQ 5.90 123Nl £AQ 5.42
ABRHFK FHEE N\ & AR
05/11|&ZF 1 1 |XE E50Q 3235 2 WO BHEQ 30.06 3 [45A WEQ 27.31 4 | KIEHTHEQ 26.43
M RE | | % @ 3 O I\ &
5 |#%E MEQ 2491 6 |k EMQ 23.60 7 @8 AED 22,01 8 |[EHEBERQ 20.59
HY T N & s = #
9 [IIT EKRQ 17.87 10 R V50 13.76
N & B
05/10[ & F 1 1 [FR2 MED 30.95 2 [AE BEBQ 2064 3 [kEH BERQ 13.31
M- REE o Fi O
05/10[ & F 1 1 [FFE R#HOQ 37.69 2 (I REQ 36.76 3 FE ENQ 31.98 4 |RiE BHEQ 30.60
PYEK R = ¥# i N & HOE
5 LT EKQ 29.70 6 |EH AEOD 28.12 7 |BERIMEEQ 26.27 8 |M%T BEQ 26.14
I IPANE:S w1 ABREE N\ &
9 [ HFH £XQ 25.37 10 |[fXE FHED 21.67 1 |FHE BXQ 20.39 12 |HHE HERQ 16.82
' 5 = # EFHEE # B
1'&;:;;}7:@ Ri5
05/11|&F 1 1B #HED 2847 2 | KB ®EQ 28.94 3 & AFQ 29.16 RN EZS) 31.23
£FE200m  RAEE +5.3 I (594) E RS (559) FilR (542) s (400)
533;;5 ;ﬁ@ Ri5
05/12| & F 1 1 rﬁ H—T—@ 2,43.24 2 [B/N MERO 2,4352 3 [ X1F HMEQ 2,44.27 RN ES) 2,57.74
£FE800m Rk || (536) B E (533) W (525) RS (386)
,Bg;ﬁ §§® Ri5
05/11|&F 1 18I #HED 17.37 2 | KB ®EQ 18.62 3 & AFOQ 18.71 RN EZS) 21.05
£FE100mH  RBE +1.1 I (555) o (426) FilR (418) s (221)
533;;5 ;ﬁ@ Ri5
05/11|&ZF 1 1|/ MED 1.45 2 (& AFQ 1.30 3 [BHE MEXROQ 1.15 4 | K15 MEQ 1.00
tiEEER RE B = (566) W (409) W (266) Fii 3 (141)
533;;5 ;ﬁ@ Ri5
05/12| & F 1 [NEEEZ0) 467 2 [ K1E HMEQ 407 EREELEZS) 404 4 [B& AFOQ 3.00
CIEERRE  RE B E +0. 6 (472) RS +1.6(324) W +1.2(317) s +2.1(107)
533;;5 ;ﬁ@ Ri5
05/11|&F 1 [EZ H—T—@ 7.21 2 |8 RO 6.53 3 | KB MEQ 6.06 4 |HE ERQ 5.26
tHERAR RE | & ®& (348) B & (305) W (275) Fii 3 (225)
,E;;ﬁ ;2@ Ri5
05/12| & F 1 [EZ H—T—@ 2241 2 |8 RO 17.80 3 | KB MEQ 16.40 4 |HE ERQ 15.97
tEPYER  RE | & ®& (334) B & (248) w1 (222) o (214)
,E;;ﬁ ;2@ Ri5
05/12| & F 1 1|8 MED 3273 2 [ AFQ 2694 3 | KB MEQ 2472 REENLEZC) 2029
LR R B E W W Fii -3
i EEQ Ri5
$HE




A/B[#EB4% $8 [ IEf B2 F L BB & —5— i % £H
05/10| BF 1| Tl ERQ O 6.83 7.10
ENE Bk 1 YER'D 19t D +4. 4 +3.8
2 | EX@ N\&ZT 6.99 6.99
Th¥v avs4 3k +71.2 +1.2
3 [BEXR EBOQ N\&ZT X 6. 96
ZYEb VAN 2k +6.0
4 KB HARO = i - 6. 80
IR/ 9% ek +3.9
5 |iI0 BEXQ KEH X 6.73
19'F +4 3k +4.3
6 [K EFQ O 6. 60 6.07 6. 60
YYEb ERSH [k +3.7 +2.8 +3.7
7 |ME ®EBO O 6. 37 6.37 6.42
7¥3IY 4 3k +5.3 +5.4 +3.6
8 |FHA B0 = ih 6.11 5.88 6. 21
15 950 [Eak +4.8 +4.3 +4.8
9 |EE BFOQ N & 6.21
7hY 9% [Eak +5.4
10 |BEF #EES ABXE 6.21
4h7 79% [Eak +2.6
1 |55 $%8 = 6. 17
ETYY 714 Bk +1.0
12 k% #hiBQ - 6.14
b WEVH [Eak +4.1
13 |IE FEQ - 6.12
h7hs hA'Y ki +2.9
14 (g BoO KER 6.08
I N 2kl +4. 6
14 |&H E5RO AEH 6.08
NI B [k +2.9
16 |HE fEQ = 6.07
' AF [Eak +5.0
17 |#Fa BKEQ N & 6.06
Thy 17°% [Eak +3.2
18 |3RE BFQ A\&ZT 5.96
#h4 44°en ik +4.1
19 |BEX D HoA 5.95
53T IHE ek +3.9
20 |BH EBIRQ = 5.85
444 19% ek +4.5
21 | KA\ #Eth@ AB KK 5.80
A14Y %4F [Eak +4.6
22 |XEEEEQ = ¥ 5.77
Yah'4 7k 2k +4.1
23 |HAE ZAQ w M 5.65
/8 b 2k +4.0
24 |HE X—O FRREE 5.57
ah" 447 [Eak +0.5
25 |[E® FXR@ ABKE 5.47
=85 Yy [Eak: +2.8
26 | SHMAT TAD |HBHE 5.33
AYLIMATLY 398 |FEEE +2.6
27 |Hk EBOQ ABXKE 5.21
IV LY s +4.0
28 |k AREQ =T 5.14
by vt Eak +4.0
29 [pE® H#HBEOQ JANEE:S 5.03
9INT HIY [Eak: +2.4
30 (#0O BAOD ABXEE 5.00
17°F 194 [Eak: +1.2
31 [itA Bb@ ABKE 4.92
I9F a9y k=1 +3.8
32 [EE FEOD EED) 4.75
741N NNy T [k 3.9
33 | KRO EED) 4.67
Thiy 44t k=1 +2.0
INE BEQ K ek
7Y A4 [Eak:
#BE XHG ABXEE ek
PEE R Vil Eak
XE B = K KI5
AAHE Yk Eak:
NI FL@ B E x5
119y [k
iR KRR ABRHIK KI5
7795 1Y ik
A HEQ B & Ri5
47 Yagtq Eak:




A/B|iEB4% SR 4 | IEf 2 F 4 E & —1— —2— | —3— —4— | —5— —6— & & EH
05/12|BF 1 |KE #KRO = ; 14.56 15.12 - - - - 15.12
BBk RES | 1 IR/ a9% mIED +1.3 +1.1 +1.1
2 | EXO® O 13.21 X X X 13. 51 13.83 13.83
279 nYb [k +1.9 +1.1 +4.1 +4.1
3 |FE 5% = X 13. 31 X X X 13.57 13.57
ETYR 714 EEp +0.3 +4.2 +4.2
4 (Lt FEQ B/ A X X 13.15 X 11. 81 13.07 13.15
h7h hA'Y 2k +2.6 +1.1 +3.4 +2.6
5 |&E #EQ = 13.10 13.00 12.96 - - - 13.10
' A3F 3k +1.9 +0.3 +2.5 +1.9
6 [HRIE KEQ O 12.63 13.02 X X 12.56 12. 60 13.02
)7+ [k +1.3 +4.0 +1.2 +2.9 +4.0
7 |HA 2AQ [T 12.98 12. 42 12.87 X X 13.01 13.01
5 3IHh [k +0.3 +2.0 +3.3 +2.7 +2.7
8 | FEO = 12.85 11.46 12.74 - - - 12.85
Th 4%y Bk +0.0 +2.2 +4.0 +0.0
9 |/ME IEFQ ABXE X 12.67 | 12.56 12.67
LY VAN [k +2.0 +2.0 +2.0
10 (40 B@ O X 12. 36 12.33 12. 36
ty'F h4k [Eak +2.2 +2.17 +2.2
11 | KB #Eth@ ABKFK 11.72 12.03 X 12.03
A14Y %47 [Eak +0.0 +2.5 +2.5
#E #WEO =T Ri5
nYYa Ty [Eak
EER: O] = Ri5
LAY’/ 73% ek
BEX BuED - Ri5
HIEN IHE ek
NI LD B = Ri5
11 %9y ek
05/10( BF 1 |[A& HEOQ B & 6.12 6.05 5.58 6.12
\FEENRRE R | 1 47 Y2yt FIAR -2.1 -0.9 -1.4 -2.1 (613)
2 |BE BHhE N ER X 6.03 X 6.03
V8 MY [Eak +0. 1 -1.5 -0.5 -1.5 (593)
3 [EREXBO B & 4.88 5.56 5.54 5.56
hENT hohaTy &R -1.2 -1.2 +2.4 -1.2 (494)
4 Kk BEOQ o 5.43 5.53 5.22 5.53
ALTH YA [k +0.3 +0.8 -1.5 +0.8 (487)
5 |dE #8313 o 5.44 4.74 5.10 5.44
417 4k R -0.7 -2.5 -0.8 -0.7 (469)
6 |HL RED B & 5.02 4.83 5.04 5.04
4/91 % [Eak -0.8 +0.3 +2.2 +2.2 (390)
B3 #3130 o Ri5
a3 ik [Eak
EX BED =it T Ri5
T Y9Y ek
05/11|&F 1 |[E&% LEQ HoH 5.29 5.21 4.99 X 5.15 5.26 5.29
EEH REF | 1 7Y/ 137 I +2.2 +1. 4 -0.2 +0.4 +0.2 +2.2
2 |l #2Q o 5. 21 5.07 5.06 5.22 5.16 5.10 5.22
IR )Y R +1.7 +0.7 +1.6 -0.8 +0.0 +1.8 -0.8
3 AT FWO ABKE 4.57 4.89 4.78 4.85 4.82 5.00 5.00
X048 34 [Eak -1.8 +2.4 +0.0 +0.4 +0.7 +0.3 +0.3
4 |HL FZROQ N & 4.83 X 4.69 4.91 4.86 X 4.91
4/91 +# ik -0.2 -1.1 +1.1 +0.7 +1.1
5 |mfm Z£EQ B E 4.66 X 4.87 4.74 4.46 4.86 4.87
17 ¥1 [EakaY +0.3 +1.3 -0.2 +0. 1 +1.6 +1.3
6 |2F BBEQ ABXE 4.85 X 4.77 X X X 4.85
hta k8 [EakaY -1.1 -0.7 -1.1
7 |—&% BXRO FHE 4.53 4.69 4.35 X 4.57 4.57 4.69
1FEY) 72971 Bk +1.1 +1.6 +0.2 +0.7 -0.9 +1.6
8 |@EL F® N OER X X 4.65 - - - 4.65
R Eak -0.2 -0.2
9 |# #%EBO = i X X 4.53 4.53
FEE T3 [EakaY -1.0 -1.0
10 [HF —1EQ o 4.30 4.51 4.03 4.51
EVAYR k) [EakaY -0.7 +2.9 -0.7 +2.9
1" I % N & 4.34 4.46 4.25 4.46
IHE vt [EakaY -1.3 +2. 1 -2.0 +2.1
12 [IBFHEEXRQ M 4.10 X 4.38 4.38
YIh7 ATt Bk -0.8 -0.5 -0.5
13 [ILBERFO N & 4.19 X 4.22 4.22
Yy#+ 343 Bk -1.7 -1.6 -1.6
14 |58 BEOQ AB*k 3.78 3.88 4.09 4.09
15 319 B -0.7 +0.9 +0. 6 +0. 6
15 |As EEQ HER X 4.05 X 4.05
41h L1h Eak +0.0 +0.0
16 [RLERERED = 2.88 3.1 2.80 3. 11
h45 abn [EakaY +0.2 +0. 6 -0.7 +0.6
-3 6] = REREL
N7 M ek
it EEOQ o REREL
Thh7 Yuh [Eak:
NFEBEEQ EEEE Ri5
h7Y°1 thY [k
AE E#HO [ITh Ri5
LS ¥4 Gk
£@ #BFOQ ABKE Ri5
L% 193 [k




A/B|iEB4% SR 4 | IEf E2F £ B E —1— —2— | —3— —4— | —5— —6— & & EH
05/12|&F 1Al EFRQ O 9.80 10. 25 10.09 9.99 10. 01 9.76 10. 25
BBk RES | 1 Y HYy ki +1.0 -0.5 +1.1 +2.8 +0.6 +1.3 -0.5
2 |EEH LEO O 9.76 10. 20 9.39 10. 14 9.87 10. 00 10. 20
7Y/ 137 RIER +1.1 +0.9 -0.2 +3.1 +0.0 +1.0 +0.9
3 |BB KB AN S 9.84 9.61 9.78 9.61 9.60 9.44 9.84
NN EY ok +1.0 -0.7 -1.5 +0.6 -0.3 -1.5 +1.0
4 [kF BKRO O 9.47 9.70 9.63 9.82 9.50 9. 60 9.82
Th a4 [kl +0.9 +1.2 +0.6 +2.1 +0.6 -1.5 +2.7
5 |[HR —1%&@ B3 9.10 9.09 9.02 8.28 8.97 8.76 9.10
N7 138 RIER +0. 6 +2.7 -0.3 +2.9 +0.5 -1.4 +0.6
6 |Hzx EBO AN S 8. 65 8.37 8.55 8.39 8.57 8. 60 8.65
ShE) T43 RIEB +0.4 +1.1 -0.6 +1.1 +1.5 -0.4 +0. 4
05/12|&ZF 1|80 RO B & 4.217 4.47 4.67 4.67
CREERER REF | 1 20 Vvt [k +1.9 +2.3 +0.6 +0.6 (472)
2 |X#B ®ME@ B3 4.05 4.07 3.93 4.07
TAny 4 FIER +1.2 +1.6 +0.9 +1.6 (324)
3 |FE MHWEOQ B3 4.04 X X 4.04
/4 3t EEp +1.2 +1.2 (317)
4 |BF AFO o 3.00 - - 3.00
A¥'LF V%3 EEp +2.1 +2.1 (107)
mt 2EQ - Ri5
17 I ek




A/B|132 /B4 B EFE FES | $EBA | 100m | FEEBE | B [ 400m | 110mH | dYE | FEZBE | 1500m ]
05/10| BF 1 |EE h 1.7 6.03 8.67 55.58 | 17.41 | 41.26 1.50 |5,07.35
~ J\FEREH AN} 4233 +1.3 -1.5 -0.7
05/11 ki 709 593 406 576 582 460 389 518
2 |EREAREO 12.08 5.56 10.06 | 56.43 | 18.70 | 41.98 1.76 |5,10.15
| & 4187 +1.3 -1.2 -0.7
ki 635 494 489 543 459 47 593 503
3 |HLE RED 12.41 5.04 7.12 56.49 | 19.02 | 30.67 1.70 |4,56.67
B & 3680 +1.3 +2.2 -0.7
ik 573 390 314 540 431 309 544 579
4 |Fk HEQ 12. 61 5.53 8. 11 58.46 | 18.44 | 30.10 1.65 |5,26.03
s 3570 +1.3 +0.8 -0.7
ik 536 487 373 467 483 301 504 419
5 |1ER #\IQ 11.84 5.44 6. 65 55.28 | 20.58 | 34.48 1.30 [5,32.75
o 3331 +1.3 -0.7 -0.7
ek 683 469 287 588 305 363 250 386
6 | A+ B2 11.87 6.12 8.44 53.39 NM 19.29 NM NM
B & 2499 +1.3 -2.1 -0.7
ek 677 613 392 665 0 152 0 0
&5 #3D ®APIEIE
ki
R BEEO Ri5
=T
Ieak:id
B/B|)A/18EA |ER EBEFE -MES | “A%\BA | 100mH | ESB | FNE | 200m | EERK | BYE | 800m 2H
05/11|&ZF INES I =0 17.37 1.45 6.53 28.47 4.67 17.80 |2,43.52
~ L@ B & 3273 +1.1 +5.3 +0.6
05/12 3k 555 566 305 594 472 248 533
2 |B¥ AFOQ 18.71 1.30 7.21 29.16 3.00 22.41 |2,43.24
s 2694 +1.1 +5.3 +2.1
3k 418 409 348 542 107 334 536
3 | K1E £0EQ 18. 62 1.00 6.06 28.94 4.07 16.40 |2,44.27
s 2472 +1.1 +5.3 +1.6
I3k 426 141 275 559 324 222 525
4 A WRQ 21.05 1.15 5.26 31.23 4.04 15.97 | 2,57.74
s 2029 +1.1 +5.3 +1.2
ek 221 266 225 400 317 214 386
m 2EQ Ri5
BHAE
ki




